Linear Systems (I)

. 6y+5z=22
y+5z=12

.b+6z=235
6b+3z=45

. Sb+v=19
4b+v =16

A4c+2u=24
2c+2u=16

Solve each system of equations.

5.

5b+3u =33
2b+6u =18

Sa+4y=19
a+5y=2_§8

6a+2u = 30
a+2u=15

4D +2v =126

3b+5v =37
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Linear Systems (I) Answers

. 6y+5z=22
y+5z=12
y=2,z=2

.b+6z=235
6b+3z=45
b=5z=5

.5b+v=19
4b+v =16
b=3v=4

Ac+2u=24
2c+2u=16
c=4,u=4

Solve each system of equations.

5.5b+3u =33
2b+6u =18
b=6u=1

6. Sa+4y =19
a+5y=38
a=3,y=1

7. 6a+2u = 30
a+2u=15
a=3,u==6

8. 4b+2v =26
3b+5v =37
b=4,v=>5
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